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STOICHIOMETRY WORKSHEET
A. Interprete the following reactions in terms of representative particles, moles and mass:

1. 2Mg + Oz (g) s 2 Mg0 (g

2. 2Nay + 2 Hz20 (aq) > 2 NaOH (aq) + Hz q)

B. Solve the following stoichiometry problems and write the correct answer with units.
1. How many moles of Oz can be produced by letting 12.00 moles of KCIOs react?
2KCIO; > 2KCI+30;
Answer:
2. How many moles of Cu are needed to react with 3.50 moles of AgNO 3 ?
Cu + 2 AgNO; = Cu(NOs); + 2 Ag
Answer:
3. How many moles of CO; are produced with 10 mol of CaHs ?
C:Hs +5 022> 3C0z2+4 H:0
Answer:
4, How many moles of HCl can be produced with 5.7 moles of H;S0,?
2 NaCl + H2S0s - Na:SOs + 2 HCl
Answer:

5. How many moles of Oxygen are needed to make complete combustion of 17.5 moles of
propane, CsHs, in order to get CO2 and H20?

CiHs + 502 2 3C0z2+4H:0

Answer:



